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Brush Stroke Rendering Method
Based on Multi-resolution and Statistics

ZHAO Fang-fang, QIN Mao-ling, REN Shi

(College of Information Science and Engineering, Shandong Normal University, Jinan 250014)

Abstract This paper designs a new brush rendering method, through adopting a Gaussian image pyramid to generate a series of reference images,
using different brushes to paint layer by layer in order to simulate the rendering stages from coarser to finer. This method uses statistics method to
determine the brush’s color and pixels’ eight-neighbor concept to control the direction of brush strokes. Experimental result shows that a photo can

be transformed to aesthetic images by setting up different parameters.
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